Ergénzungsrechnungen im Zahlenraum 100

ohne Uberschreifung 1
N+ =% 3+ =tk 30+ =35
62 + =63 583+ =460 42 + =49
52+ =5 b1+ =68 %+ =75
0+ =99 22 + =100 10+ =18
32+ =38 0+ _ =18 80 + =84
21+ =273 50+ =353 26+ =30
. A0h + =69 4+ =170 20+ =77
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\ 1802175675703 7754099

0+__ =% 1+ =13 81 + =90
24+ _ =177 20+ __ =75 H0+_ =706
B+_ =% 62 +__ =09 B+ __ =80



Ergénzungsrechnungen im Zahlenraum 100

ohne UberschreiTung [

ol + =08 45+ =150 87 + =88
32 + =36 84 +__ =89 St + = 60
ST + =00 82 +__ =90 33 + =38

53 + =54 5 + = 58 5 + =5
50 + =48 12+ =120 10+ =19
M+ =7 13+ =120 N+ =78
80 + =89 63+ =10 50+ =60
RN+ =3 62+ = 68 84+ =8b
81 + __ =8b 91 + =100 92+ =9
20+ =2 i+ =7 12+ =16



Ergénzungsrechnungen im Zahlenraum 100

ohne UberschreiTung 3

84 + =88 B+ =3 10+ =13
B+ =T 5+ =50 B+ =29
63+ =68 43+ =4b 25+ =130
84+ =85 B+ =80 2+ =39

b+ =45 52+

59 ol + =62

WMo+ =42 N+ =P 51 + =54
12+ =120 82 + =84 50+ =59
2%+ =18 54 + =58 b+ =38
60 + = b7 82 + =86 3+ =40
92 + =100 3+ =35 R+ =7
2%+ =130 40 + =45 20+ =77
82+ =85 b3+ =44 B+ =80



Ergénzungsrechnungen im Zahlenraum 100

. ~6F +

,ﬁ@

ohne Uberschreifung 4
%+ =30 W+_ =7
86 + =90 88 + =89
52 + =158 80 + =8¢
H+ =1 26+ =178
31+ =37 69 + =10
0 + =98 50 + =52
M+ =4 51+ _ =5

S 6 1 b1, 644,896 7,562

50 + =59 9+ =40 81 + =83
82 + =87 63+ =bb B+ =39
B+ =40 5+ =60 B+ =35
67 + 68 51+ =59 0+ =38
ol + =70 85+ =90 20+ =2
B+ =80 84 + =89 31+ =38
% + =178 b+ =47 0+ =7



Ergénzungsrechnungen im Zahlenraum 100

ohne UberschreiTung 5

+_ =7 22 +__ =19 383+ __ =60
H+_ =0 15+_ =16 0 +_ =3



Ergénzungsrechnungen im Zahlenraum 100

ohne Uberschreifung 1
N+ 5=% 63+ 1 =06k 30+ 5=35
62 + 1 =63 53+ 7 =060 42 + 1 =49
50+ b =5 bl + 7 =068 2%+ 1 =05
0+ 9 =99 22 + 1 =100 10+ 8 =18
32+ 6 =38 0+ 8 =718 80 + 4 =84
21+ 7 =23 50 + 3 = 53 26+ 4 =30
. 204+ 5 =69 4+ 6 =120 20+ + =177

1802156 55363 g4 09

0 +_6 =% Mn+_2 =13 81 +_9 =90
=77 20+_5 =125 0 +_06 =706

3
B+_72 =7 62 + _1 =69 8+ _2 =80

Mo+ ] =42 56 + 4 =60 57 + 3 =60
2+ 4 =7 5+ 5 =47 2+ b =28
2+ 7 =2 2% + b =30 30+ 4 =3
82 + 1 =83 84 + 4 =88 77+ 2 =29



Ergénzungsrechnungen im Zahlenraum 100

ohne Uberschreifung 1
bl + 7 =68 45+ 5 =50 87+ 1 =88
32+ 4 =36 84 + 5 =89 5% + 6 =60
51+ 9 =60 82+ B =% 53+ 5 =58
B+ 3 =FF 4+ 3 =4 49+ 1 =50
4 + 5 =49 3B+ 3 =38 12+ 8 =70
80 + 9 =89 81 + 5 =86 31+ 9 =40
0+ 3 =43 b+ 4 =20 50+ 4 =5

53 + 1 =54 5 + 8 = 58 50 + 1 =51
50 + 8 =48 12+ 8 = 20 10+ 9 =19
o+ 3 =7 13+ 7 =120 N+ 7 =78
80 + 9 =89 63+ 7 =170 52+ 8 =60
2+ 3=3% 62+ b = 68 84 + 2 =86
81 + 5 =8b 91 + 9 =100 92+ 7 =99
20+ 4 =2 M+ 5 =7 12+ 4 =16



Ergénzungsrechnungen im Zahlenraum 100

ohne UberschreiTung 3

b 10+ 3 =13
B+ 4 =7 4 + 8 =50 B+ b =29

6 2+ _5 =3

8 3
7 5
6 4
84 +_1 =85 B3+ _7 =80 32 +_7 =39
4 5
3 7
3 7

H + 4 =45 52+ 7 =59 bl + 1 =62
32+ b =38 1+ 8=79 9% + 4 =99
21+ 9 =30 0+ 8 =78 2+ b =78

WMo+ 1= 42 N+ 8 =7 51 + 3 =54
12+ 8 = 20 82 + 2 =84 52+ 7 =59
2%+ 2 = 18 54 + 4 =58 b+ 2 =38
60 + 7 = b7 82 + 4 =86 3+ 9 =40
92 + 8 =100 3+ 4 =35 R+ 1=7
2% + b = 30 40 + 5 =45 20+ 7 =77
82+ 3 =85 43+ | =44 B+ 7 =80



Ergénzungsrechnungen im Zahlenraum 100

ohne Uberschreifung 4
o+ 4 =78 %+ b6 =30 0+ 2 =7
31+ 9 =40 86 + 4 =90 88 + 1 =89
gf+ 1 =88 52 + 6 =58 80 + / =87
N+ 6 =1 H+ 7=1 26+ 7 =18
M+ 4 =7 31 + 6 =37 69 + 1 =70
b+ 8 =49 0+ 8 =9 50+ 2 =52

. ~0F + 7 =69 41 + 6 =47 510+ f =58

50 + 9 =59 39+ 1 =40 81 + 2 =83
82 + 5 =87 63 + 3 =bb %+ 5 =39
3B+ 7 =40 52+ 8 =60 B+ 1 =35
67 + 1 =68 51 + 8 =59 30+ 8 =38
bl + 9 =70 85+ 5 =90 20+ 4 =2
75+ 5 =80 84 + 5 =89 31+ 7 =38
2% + 4 =78 5+ 5 =47 0+ 1 =7



Ergénzungsrechnungen im Zahlenraum 100
ohne UberschreiTung 5

9 22+ _1 =179 33 +_1 =60

Hr+ 5 =0 15+_1 =16 0 +_4 =34

20+ _8 = _+ =18
81 +_9 =90 5t + =36 55 +_5 =060
. 43+ _3 =46 51 + =38 20+ _4 =24

62 + b =68 12+ 4 =16 0+ 4 =P
3B+ 3 =3 4 + 4 =4p 84 + 4 =88
51 + 7 =58 83+ 7 =90 bh + 4 =68
50 + 9 =59 52+ 7 =59 B+ 1 =3
80 + 3 =83 10+ 4 =14 B+ 2 =38
4+ b =80 b7 + 3 =70 B+ 1 =7
56 + 3 =59 10+ 7 =17 20+ 7 =27



